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B.Com IVth Semester Degree Examination
STATISTICS
(Quantitative Techniques - 1I)
Paper - I1
Time : 3 Hours - ¥ Maximum Marks : 80

Instructions to Candidates:

Mathematical Logarithm, Statistical tables and Graph papers are supplied on request

Sectio.n -A

ort - o

I Answer any ten of the following. (10 x2=20)
SUNSYHNYS Berr T3P, HUIDD.
1) Define secular trend. Give an exaﬁ]plc.
Degpezeds I,H30d méaﬁﬁ &el. woth EfUCJaESUEa'QZi-Jﬁgl 30BD.
2) Writ_é no&nal equations to fit a linear trend.
X0¢ Ceands 33300 AokeeaBod INE FNEFTLNVH), WBWD.
3) Write two uses of Index Numbers.

219,038 S0m eusateeririda WOMD. -
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4) If Laspeyre's Index Number is 134 and Paasche's Index Number is 138,
calculate Dorbish-Bowley's Index Number.

A DTT BRI, 0TR) 134 By TRZ00IT 2RWY 0T 138 glake
| "mmm* m;ﬁesa AL, 0TI, i'}oc:bmacm&

ﬂlq,‘
) ]
Fe .. #

. D) S_tatf: Laws of Demand and Supply.
Wehd DI @;adﬁriei ATROBNLTY, BeLD.
6) ° Define price Elastisity of Demand..
"@a-t’éﬁ BSod LrHOE ATOB[H) @5;1;35&2,6.
7) | Define Linear Programming Problem (LPP).
Sead TOIB I, 0D 79,359,0.
8) Define optimum somtion of LPP.
Sead F0DB ADA0D I3 36@0 3,209, QRD.
9) Define Non-degenerate solution of transportation problem.
MMeefE DR TonT-Buadets 0BT :saganéﬁf{}?ab.
10) Write any two_ difference between TP and AP.
MW IR, ), BowT I, 0HIWHLT 0@ FFArida) woowd.
11) Define a project.
odpezdodE) =9309,%0.
12) Define Merge and Burst Ie.ventsf

BAGS DD, 0news LRI, H9551,A20.
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Section - B

rArTs -

IL.  Answer any three of the following.

YN Bew o mrad% euZDLD.

13) Calculate 4 yearly moving averages for the following.,

YN c‘&%ﬁﬁ& 4 IRFT wod ROZDODEY, FoEEGBOWD.

Year(S=F): 2001

Sales : 50

S 00k3

Year(S&E6): 2007

Sales : | 98

RO 0b3

65

100

2002

2008

2003

72

2009

90

2004

66

2010

88

2005

58

2011

121

14) Compute the cost of Living Index Number for the following data.

BUNT A8, 22eIT Sog, %010, 083W, ForLBAVD.

Items
R

0 .

A .

CIVS 215 A-16

Weight
208
30

is

25

18

32

3)

2005
1500

575

390

. 460

580

Price (236)
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(3 x5=15)

2006

75

2008
2050
680
440
400

720
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15) Demand and supply functi-ons of a commodity are given below.
S 3911 2ot SOV WeBE DB, ﬁ;aqsi% P 3o &R Nd.
D=P>+4P-19and S =5P+1 |
i)  Findequilibrium price and
AR o 36 FoTHLBND )
| ii})  Find quantity exchange.
JOIRM &)S)ﬁm&aaﬁﬁ&ﬁotﬁ)&ﬁwb.
16) Solve the following LPP graphically
3¢Ns Seadad TOHB jab",%oi)aigt ese3es) ATRRNOE FoBLBOWD.
MinZ=15x+9y |
stc  10x + 6y <600
X+ 2y > 100
and X,¥ >0
17) Explain the steps in NWCR to find Initial solution of TP.

BRHE FDL B, 208, TOZUIM, ForbBB n3o-BBH ed
DTSR, SO0

Section - C
| Pgort - ©
Ol  Answer any three of the following. | 3 x15=45)

39N Wevold SaeTE BUZDRD.
18) -a) What are the components of time series ? Explain seasonal variation.

sod crfod Frisnt wny 7 WD BreenohIng [0,
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b) Fit a straight line trend. Find trend values, Estimate the production for the
year 20]5 for the following data.

ChLE Eﬁa,.:i!’t md%’dcma’ﬁ wasa:mm es0dnez3nd. ﬁ_,dé zidﬁ%?ﬁigt
ﬁom&uam}a 2015de sn.arci e:u:sacsfm'bab 200,

Year : 2007 2008 2009 2010 2011 2012 2013
DHEE
Production: 28 42 35 50 65 62 | 78
U

19) a) Exﬁlain briefly steps involved in the construction of Index Numbers.
Fimmasoﬁﬂ%’ da&ﬁojse?nas ﬁogﬁ%’ﬁg_ ﬁoéﬂmﬁ QI020.

b) For the following data calculate

(1) Laspeyre's (ii) Paasche's (iii) Fisher's
(iv) Marshal-Edgeworth Price Index Numbers.

$9NE W34, (i) 0 SARDS (i) TR (1) SFCS (iv) AwEFO a3,
(Al .:.raz.ﬂ oﬁrf*ﬁﬁb ﬁoﬁ)&ﬁ&&)ﬁ

2012 2014

Commodity Price Quantity Price Quantilyj

Soried 38 S0S™e 38 2080
A 65 10 82 12

B 32 7 37 10

c 17 5 23 9

D 48 | . 6 , 54 8

E 36 8 49 8
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20) a) Find and intial solution to the following TP using VAM.

3UNS ®FE VAM deshod 3,33 IDZUSRTY, SomihBonD.

o O

o

o

4

Requirement

b)  Find the optimum solution for the following AP.

D]
20
30
50
15

70

D2
65
28
45

60

90

D, Availability _
40 50

15 80

65 70

25 140

180

3RS doseend DN e 3 BeohIab ) FomsBWD.

o O

Machine A
o3, B
E

1

Job (303)

2

3

5

L

21) a)  Explain briefly different phases of a project.

3 4
2 8
3 1
3 4
4 2
6 5

0deemRodIT AP BoINTEY zod TN DHIBAD.
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b) Forthe following project find critical path and duration of the project.

F9NS odecudn RO Srie S, 3?1:33&@%3 ﬁai)odaaﬁigl ﬁozﬁ;&@o&)&
Acivity  :A B C D E F G H 1

LIS

Preceding : .~ _ _ A A BD ¢ ¢ 16
Activity

%odd oz

Time (week) : 6 8 6 8 14 15 16 12 7

o (s 0)
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